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EH21FEE FHEFEFTNZREE
UR A DER (Bfsr:H)
#E LY FTERE | fHIERE FHIFEE REZE =5 =9
(A) (B) (C=A+B) (D) (C-D) i
EEEEH 45,015,000 45,015,000 | 45,015,000 0 [#EETh&EY
FIRFEUA 0
BEEZXRA 0 0
HA 300,000 300,000 823,776 -523,776
ENfmIE 0 0 0
R et 300,000 300,000 690,426 -390,426
Z D (GEERZIERA) 133,350 -133,350
Z Db ( 0
Z D ( 0
IRA &t 45,315,000 45,315,000 | 45,838,776 -523,776
X H DER
#E LYFTERE | fHIERE FHIEE REZE =5 =59
(A) (B) (C=A+B) (D) (c-D) 5
AGE 19,508,000 0| 19508000 | 18,642,747 865,253
5B 17,086,000 0| 17,086,000 | 16,646,827 439,173
HEREH 1,884,000 0 1,884,000 1,262,822 621,178
BEFZ 480,000 0 480,000 704,370 -224,370
BEZHE 40,000 0 40,000 10,728 29,272
HrEEULEEHE 18,000 0 18,000 18,000 0
ERE 2,784,000 0 2,784,000 4276114 -1,492114
RE 15,000 0 15,000 42,500 -27,500
HERE 962,000 0 962,000 2,211,954 | —1,249,954
SERWE 100,000 0 100,000 3,990 96,010
FRIE AR E 28,000 0 28,000 0 28,000
BIEE 180,000 0 180,000 358,899 -178,899
FRERVEEH 279,000 0 279,000 370,310 -91,310
EREAE 800,000 0 800,000 1,064,510 -264,510
NEEANE 0 0 0 0 0
EREESERE 15,000 0 15,000 18,230 -3,230
BEEMEE 100,000 0 100,000 0 100,000
RA FEH 240,000 0 240,000 182,721 57,279
1J—2 % 0 0 0 0 0
FHH 35,000 35,000 23,000 12,000
Hhigin & 0 0 0 0 0
ZDih 30,000 0 30,000 0 30,000
EXE 1,900,000 0 1,900,000 1,820,916 79,084
EEEEIH 100,000 0 100,000 154,840 -54,840
[RCRDH=E | & 1,800,000 0 1,800,000 1,666,076 133,924
EEE 20,713,000 0| 20,713,000 | 19,314,177 1,398,823
FLEIKE 12,350,000 0| 12,350,000 | 10,882,056 1,467,944
BERHE 1,946,000 0 1,946,000 1,148,249 797,751
HA¥E 3,350,000 0 3,350,000 3,029,231 320,769
KEHE 7,054,000 0 7,054,000 6,704,576 349,424
ARE 4,154,000 0 4,154,000 4,433,100 -279,100
1B1EE 1,500,000 0 1,500,000 373,965 1,126,035
MM RE 279,000 0 279,000 391,980 -112,980
HiEReE 2,130,000 0 2,130,000 3,233,076 | -1,103,076
TR AERBERST 835,000 0 835,000 888,300 -53,300
JHBAER ERSTE 114,000 0 114,000 0 114,000
ERERIERST 276,000 0 276,000 289,800 -13,800
ERERFRES 205,000 0 205,000 135,450 69,550
ZTDhEEE 700,000 0 700,000 1919526 | -1,219526
HaFE 300,000 0 300,000 0 300,000
NFENEE 10,000 0 10,000 20,000 -10,000
EHERE 400,000 0 400,000 400,000 0
— AR E 0 0 0 0 0
| BB REAR ST & 0 0 0 225,000 -225,000
X HEE 45,315,000 0| 45315000 | 44698954 841,046
Z=5| 0 | 0 | of 1,139,822 -1,364,822 |




| > 3| &= FH
1 FRAEHK MeE% HHFEE TER21EE
4A £ F
29H 29H
] £ g Eb 3R (E]) E: S g tb 2= (@)
B R KX 502 316 818 20.9% 502 316 818 20.9%
#HEINRX 714 555 1,269 32.4% 714 555 1,269 32.4%
& L] X 14 4 18 0.5% 14 4 18 0.5%
th X 70 2 72 1.8% 70 2 72 1.8%
3] X 8 2 10 0.3% 8 2 10 0.3%
B B K 7 5 12 0.3% 7 5 12 0.3%
X RIrBX 51 19 70 1.8% 51 19 70 1.8%
] X 19 8 27 0.7% 19 8 27 0.7%
Al B F X 1 1 2 0.1% 1 1 2 0.1%
£ R K 0 0 0 0.0% 0 0 0 0.0%
i #H oA X 788 745 1,533 39.2% 788 745 1,533 39.2%
& K 5 9 14 0.4% 5 9 14 0.4%
A FER 4 9 13 0.3% 4 9 13 0.3%
R KX 30 4 34 0.9% 30 4 34 0.9%
% F B R 5 0 5 0.1% 5 0 5 0.1%
x =3 1 0 1 0.0% 1 0 1 0.0%
R 2 K 1 1 2 0.1% 1 1 2 0.1%
AR 1 0 1 0.0% 1 0 1 0.0%
ZOf (TAMEL) 3 0 3 0.1% 3 0 3 0.1%
& i 4 3 7 0.2% 4 3 7 0.2%
(a) /I &t 2,228 1,683 3911 100% 2,228 1,683 3911 100%
IO ES | 0 0 0 o[ 0 0 0 o[l
K H=O0BE 33 146 179 20[E] 33 146 179 20[]
£ |[ZoEA 16 176 192 22[] 16 176 192 22[E]
Fl BULKRE 0 0 0 o[ 0 0 0 o[E
H (b) /v &t 49 322 371 42[a] 49 322 371 42[g]
z EREEDR 78 103 181 16[8] 78 103 181 16[E]
) Hh 35 BA AR 0 0 0 0[] 0 0 0 o[a
it (c) /N &t 78 103 181 16[g] 78 103 181 16[8]
(a)+(C) 2,306 1,786 4092 ——— 2,306 1,786 4092 ———
1R ESFRE 79.5 61.6 1411 ——— 79.5 61.6 1411 ———
F OB = £ 8 150 A 94.1% 7E 150 A 94.1%
2 & D
B % A B ERIEE RET A
R 4 60 4 60
GRS 0 0 0 0
FEEECEES 0 0 0 0
2 BE M & 0 0 0 0
X E M K 0 0 0 0
= i 4 60 4 60




| N 3 4= ==
1 _FAFHK ik BEELE {21
5H R i
30H 59H
] g E Lb 3R (E]) E: @ g tb 2= (@)
# R KX 595 392 987 21.9% 1,097 708 1,805 21.4%
FEEINS 750 659 1,409 31.3% 1,464 1214 2,678 31.8%
& L] X 15 2 17 0.4% 29 6 35 0.4%
i X 59 2 61 1.4% 129 4 133 1.6%
A 2] X 12 5 17 0.4% 20 7 27 0.3%
e T 7 12 19 0.4% 14 17 31 0.4%
X RIrBX 28 13 41 0.9% 79 32 111 1.3%
1B X 13 2 15 0.3% 32 10 42 0.5%
Al B F X 5 3 8 0.2% 6 4 10 0.1%
£ R K 1 0 1 0.0% 1 0 1 0.0%
1 e A 885 943 1,828 40.6% 1,673 1,688 3,361 39.9%
fio X 2 13 15 0.3% 7 22 29 0.3%
A FERK 8 12 20 0.4% 12 21 33 0.4%
MR K 42 4 46 1.0% 72 8 80 1.0%
K F I K 6 0 6 0.1% 11 0 11 0.1%
x =3 0 0 0 0.0% 1 0 1 0.0%
R 2 K 0 1 1 0.0% 1 2 3 0.0%
BARK 1 0 1 0.0% 2 0 2 0.0%
ZOf (MIMEL) 1 6 7 0.2% 4 6 10 0.1%
& N 4 4 8 0.2% 8 7 15 0.2%
(a) /I &t 2,434 2,073 4,507 100% 4,662 3,756 8,418 100%
EEIOEES | 93 224 317 22[] 93 224 317 22[H]
1 H=0OBE 36 174 210 26[E] 69 320 389 46[E]
£ |[Z0tEN 23 176 199 20[E] 39 352 391 42[E]
Fl BALKRE 0 0 0 o[ 0 0 0 o[l
H (b) /v & 152 574 726 68[d] 201 896 1,097 110[a]
A 12 12 24 22[8] 90 115 205 165[8]
) Hh i3 B AR 0 0 0 0[] 0 0 0 o[al
it (c) /N &t 12 12 24 22[8] 90 115 205 165[E]
(a)+(C) 2,446 2,085 4531 ——— 4,752 3,871 8623] ———
1R ESFRE 81.5 69.5 1510 | ——— 80.5 65.6 1462 ———
F R o | 150 A 100.7% 7E 150 A 97.4%
2 g D
| % A B RET A5 RETAH
RiEfEU 5 32 9 92
GRS 0 0 0 0
FIEIECEES 0 0 0 0
2 BE M &% 0 0 0 0
X E M K 0 0 0 0
& it 5 32 9 92




& =

1 FHEHR i PR EERAE 214
6 A = ar
29H 88H
_ 5 Z E e ([E|]) E:) T E Ee 2 (m))
B KX 529 400 929 20.7% 1,626 1,108 2,734 21.2%
FEEINIES 745 627 1372 30.6% 2,209 1,841 4,050 31.4%
1& 7 X 12 5 17 0.4% 41 11 52 0.4%
th X 48 6 54 1.2% 177 10 187 1.4%
A i3] X 10 7 17 0.4% 30 14 44 0.3%
B m X 3 4 7 0.2% 17 21 38 0.3%
3 REr 8K 45 51 96 2.1% 124 83 207 1.6%
B X 23 14 37 0.8% 55 24 79 0.6%
Al s 1 1 2 0.0% 7 5 12 0.1%
£ R K 1 0 1 0.0% 2 0 2 0.0%
F Bk X 839 1,017 1,856 41.4% 2512 2,705 5217 40.4%
£ X 0 13 13 0.3% 7 35 42 0.3%
H FEER 11 11 22 0.5% 23 32 55 0.4%
#H R K 33 2 35 0.8% 105 10 115 0.9%
VS F B X 8 1 9 0.2% 19 1 20 0.2%
x X 0 0 0 0.0% 1 0 1 0.0%
i R X 5 2 7 0.2% 6 4 10 0.1%
AR 6 1 7 0.2% 8 1 9 0.1%
O (hoMELE) 0 0 0 0.0% 4 6 10 0.1%
& 3 2 5 0.1% 11 9 20 0.2%
(a) /N Bt 2,322 2,164 4,486 100.0% 6,984 5,920 12,904 100.0%
B | 113 273 386 26[a] 206 497 703 48[
® HEOBE 37 229 266 25[A] 106 549 655 71[5]
%  |Z0OtEA 17 171 188 0= 56 523 579 42[0]
F Bt K 0 0 0 0[=] 0 0 0 0[=]
F (b) /N Et 167 673 840 51[g] 368 1,569 1,937 161[g]
T 7 13 20 9[=] 97 128 225 174[g]
) Hh i BE AR 0 0 0 0[=] 0 0 0 0[=]
fth (o) /v &t 7 13 20 9[m] 97 128 225 174[H]
(a)+(C) 2,329 2,177 4506] ——— 7,081 6,048 13,129 ———
1HFESFAE 80.3 75.1 1554 | ——— 80.5 68.7 1492 | ———
S T B 150 A|  103.6% E B 150 A 99.5%
g (1))
B N ERIEES FE S
{RIEI2AAE 4 28 13 120
£ F 0 0 0
FEENCEES 0 0 0
FEECEES 0 0 0
X B H B 0 0 0
=1 it 4 28 13 120




| > 3| &= FH
1 _FABFHK ik HRERE TRk 214
7H % ar
30H 118H
] £ g Eb 3R (E]) E: S g tb 2= (@)
B R KX 613 457 1070 22.2% 2,239 1,565 3,804 21.5%
#HEINRX 805 686 1,491 31.0% 3,014 2,527 5,541 31.3%
& [i] X 9 3 12 0.2% 50 14 64 0.4%
B X 64 3 67 1.4% 241 13 254 1.4%
3] X 6 6 12 0.2% 36 20 56 0.3%
B B K 3 12 15 0.3% 20 33 53 0.3%
X RIrBX 51 31 82 1.7% 175 114 289 1.6%
B X 22 11 33 0.7% 77 35 112 0.6%
Al B F X 1 1 2 0.0% 8 6 14 0.1%
£ R K 0 0 0 0.0% 2 0 2 0.0%
i # oK 880 1,034 1,914 39.8% 3,392 3,739 7,131 40.3%
K 1 8 9 0.2% 8 43 51 0.3%
=2 FER 17 15 32 0.7% 40 47 87 0.5%
R KX 45 1 46 1.0% 150 11 161 0.9%
1K F E K 6 1 7 0.1% 25 2 27 0.2%
x =3 0 0 0 0.0% 1 0 1 0.0%
R 2 K 2 0 2 0.0% 8 4 12 0.1%
AR 10 0 10 0.2% 18 1 19 0.1%
ZOf (TAMEL) 0 2 2 0.0% 4 8 12 0.1%
T & 1 3 4 0.1% 12 12 24 0.1%
(a) /I &t 2,536 2,274 4810 100% 9,520 8,194 17,714 100%
Rk D £ =] 121 271 392 280 327 768 1,095 762
K H=E0OBE 35 191 226 23[E] 141 740 881 94|
£ |[ZotEHA 17 181 198 23[E] 73 704 777 65[a]
Fl BHLKRE 0 0 0 o[ 0 0 0 o[l
H (b) /v &t 173 643 816 74[] 541 2,212 2,753 235[a]
% [E=m-R¥Eh 15 17 32 5[] 112 145 257 179[8]
) Hh 35 BA AR 0 0 0 0[] 0 0 0 o[a
it (c) /1N Bt 15 17 32 5[a] 112 145 257 179[8]
(a)+(C) 2,551 2,291 4842 ——— 9,632 8,339 17971 ———
1R ESFRE 85.0 76.4 1614 ——— 81.6 70.7 1523 ———
F B = £ 8 150 A 107.6% E B 150 A 101.5%
2 & (1))
B % A B ERIEE RET A
R 4 65 17 185
GRS 0 0 0 0
FEEECEES 0 0 0 0
2 BE M & 0 0 0 0
X E M K 0 0 0 0
= B 4 65 17 185
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8 H = ar
30H 148H
_ 5 £ i tb 2= (@) E: S H tr 2 ([E])
B RARK 593 427 1020 22.1% 2,832 1,992 4,824 21.6%
#HEIX 819 633 1,452 31.5% 3,833 3,160 6,993 31.3%
1& [ii] X 10 2 12 0.3% 60 16 76 0.3%
th X 60 2 62 1.3% 301 15 316 1.4%
A il X 6 1 7 0.2% 42 21 63 0.3%
E B K 6 13 19 0.4% 26 46 72 0.3%
X RIsBK 37 31 68 1.5% 212 145 357 1.6%
7B =3 32 6 38 0.8% 109 41 150 0.7%
Al M F X 5 1 6 0.1% 13 7 20 0.1%
£ R X 0 1 1 0.0% 2 1 3 0.0%
F EF ok X 888 950 1,838 39.9% 4,280 4689 8,969 40.2%
% X 1 13 14 0.3% 9 56 65 0.3%
H FER 12 18 30 0.7% 52 65 117 0.5%
# O\ X 26 2 28 0.6% 176 13 189 0.8%
1K F K KX 5 0 5 0.1% 30 2 32 0.1%
* X 0 0 0 0.0% 1 0 1 0.0%
R R =3 0 1 1 0.0% 8 5 13 0.1%
AR 1 0 1 0.0% 19 1 20 0.1%
ZOH (BIELD) 0 1 1 0.0% 4 9 13 0.1%
& 4 0 4 0.1% 16 12 28 0.1%
(a) /v &t 2,505 2,102 4,607 100% 12,025 10,296 22,321 100%
iRk D =] 85 229 314 24[8] 412 997 1,409 100[E]
® HEOBE 37 156 193 19[8] 178 896 1,074 113[a]
% Z D EN 16 125 141 18[@] 89 829 918 83[a]
Fl Bt RZE 0 0 0 0[m] 0 0 0 e
A (b) /v &t 138 510 648 61[a] 679 2,722 3,401 296/H]
T 5 3 8 4[] 117 148 265 183[d]
» Hh 32k BRI A 0 0 0 o[l 0 0 0 o[l
it (c) /v & 5 3 8 4A[q] 117 148 265 183[a]
(a)+(C) 2510 2,105 4615 ——— 12,142 10,444 22586 ———
1HFEBFEE 83.7 70.2 1538 | ——— 82.0 70.6 1526 | ———
F A= EF B 150 A 102.6% | 150 A 101.7%
g (1))
ERE A & ERACE AR
FIEECEES 4 79 21 264
£ F 0 0 0 0
FEENECEES 0 0 0 0
ECEEEES 0 0 0 0
X E H B 0 0 0 0
= B 4 79 21 264




Fl A KK R $® & &
M AEHK i FEIT 21
9H £ F
29H 1778
5 S B EEZR (ED) E: £ B EEEE (E])
EREX 591 431 1022] 21.8% 3,423 2,423 5846 21.6%
#HEIIX 798 646 1444|  30.8% 4,631 3,806 8437 31.2%
& iz =8 10 1 11 0.2% 70 17 87| 0.3%
F X 58 4 62| 1.3% 359 19 378  1.4%
A M 11 4 15  0.3% 53 25 78]  0.3%
BEX 5 17 22|  05% 31 63 94|  0.3%
X RIsBK 41 29 70| 1.5% 253 174 427 1.6%
JEX 33 4 371  0.8% 142 45 187]  0.7%
Al X 9 1 10  0.2% 22 8 30  0.1%
&R 0 0 0 0.0% 2 1 3| 0.0%
F EIX 977 932 1909 40.7% 5,257 5,621 10,878 40.3%
#’X 0 11 11 0.2% 9 67 76|  0.3%
=2 TFERX 13 13 26]  0.6% 65 78 143  0.5%
EHRX 32 1 33  0.7% 208 14 222  0.8%
K FiEX 8 0 8|  0.2% 38 2 40  0.1%
KX 0 0 0 0.0% 1 0 1 0.0%
i REX 1 1 2| 0.0% 9 6 15[ 0.1%
BAX 0 0 of 00% 19 1 20|  0.1%
Z 0t (iR 0 0 ol 00% 4 9 13  0.0%
iR 3 2 5 0.1% 19 14 33 0.1%
(a)/Vat 2,590 2,097 4687 14,615 12,393 27,008
HRIk D H 81 191 272 23[9 493 1,188 1,681 123mE]
HzEoBZ| 36 181 217 22[g] 214 1,077 1,291 135
ZntEAH 28 195 223 27[a] 117 1,024 1,141 110[A]
faflt K= 0 0 0 o[ 0 0 0 o[
(b)/NET 145 567 712 72[g] 824 3,289 4113 368
Rg-RBF 8 7 15 8[| 125 155 280 191[@
Hb 35k BE 7k 7 2 9 1m] 7 2 9 1@
(c)/VEt 15 9 24 9[a] 132 157 289 192[g]
(a)+(C) 2,605 2,106 4711 ——— 14,747 12,550 27297 ———
1HEYFRE 89.8 72.6 1624 | ——— 83.3 70.9 1542 | ———
FAE 7E 150 A| 108.3% 7E 150 A 102.8%
2R TEHARBXEDORAMKEERE
B % A ERIEES RPN
EEEECEES 4 76 25 340
GRS 0 0 0
FEEECEES 0 0 0
EEECEES 0 0 0
X E M K 0 0 0
& &t 4 76 25 340




Fl A KK R $® & &
FAEH MEE% FEE 21 S
10H £ F
30H 207H
5 S B EEZR (ED) E: = B EEEE (E])
EREX 647 432 1079]  22.4% 4,070 2,855 6,925 21.8%
#HENX 880 648 1528| 31.7% 5511 4,454 9,965 31.3%
& iz =8 13 0 13|  0.3% 83 17 100]  0.3%
F X 57 2 59|  1.2% 416 21 437 1.4%
A M 17 0 17  0.4% 70 25 95  0.3%
BEX 3 10 13|  0.3% 34 73 107]  0.3%
X RIsyBX 39 32 71 1.5% 292 206 498  1.6%
JEX 25 5 30 0.6% 167 50 217 0.7%
Al X 4 5 9] 0.2% 26 13 39]  0.1%
&R 0 0 ol 00% 2 1 3| 0.0%
F EIX 947 983 1930 40.0% 6,204 6,604 12,808 40.2%
#’X 2 12 14|  0.3% 11 79 90| 0.3%
=2 TFERX 7 10 17  0.4% 72 88 160  0.5%
EHRX 30 2 32| 0.7% 238 16 254 0.8%
K FiEX 7 0 71 0.1% 45 2 471 0.1%
KX 0 0 0 0.0% 1 0 1 0.0%
" REX 0 1 1| 0.0% 9 7 16  0.1%
BAX 0 0 of 00% 19 1 20|  0.1%
Z 0t (iR 0 0 ol 00% 4 9 13  0.0%
iR 1 0 1 0.0% 20 14 34|  0.1%
(a)/Vat 2,679 2,142 4821 17,294 14,535 31,829
iRk D H 72 238 310 21[8] 565 1,426 1,991 144
#HZEoBZ| 43 190 233 22[] 257 1,267 1,524 157[8]
ZntEAH 28 198 226 29[q] 145 1,222 1,367 139[a]
faflt K= 0 0 0 o[ 0 0 0 o[
(b)/NET 143 626 769 72[E] 967 3,915 4,882 440[E]
Rg-RBF 4 5 9 7E] 129 160 289 198[]
Hb 35k BE 7k 0 0 0 o[l 7 2 9 1[H]
(c)/VEt 4 5 9 7[] 136 162 298 199[H]
(a)+(C) 2,683 2,147 4830 ——— 17,430 14,697 32,127 ———
1HEYFRE 92.5 74.0 1610 ——— 84.2 71.0 1552 | ———
FAE 7E 150 A| 107.3% 7E 150 A| 103.5%
2R TEHARBXEDORAMKEERE
B % A ERIEES RPN
EEEECEES 4 106 29 446
GRS 0 0 0 0
FEEECEES 0 0 0
EEECEES 0 0 0
X E M K 0 0 0
& &t 4 106 29 446




MR K &R & FE
1 FIREH 4 FRIE T Ak21
118 ®_:
29H 236H
5 S B iz J(F1)) ez £ H 22 (m))
BERX 600 367 967| 20.0% 4,670 3,222 7,892| 21.5%
#HE)IX 867 650 1517  31.4% 6,378 5,104 11,482 31.3%
& (i =3 14 11 25|  0.5% 97 28 125  0.3%
hX 45 2 471 1.0% 461 23 484  1.3%
A X 22 0 22|  0.5% 92 25 117]  0.3%
HEmX 3 4 71 0.1% 37 77 114]  0.3%
X BRIy BX 87 35 122  2.5% 379 241 620] 1.7%
BX 21 10 31 0.6% 188 60 248 0.7%
Al HFX 9 4 13  0.3% 35 17 52|  0.1%
£RX 0 1 1| 0.0% 2 2 4] 0.0%
eS| AL 932 1,021 1953|  40.5% 7,136 7,625 14,761 40.3%
X 0 9 9] 0.2% 11 88 99| 0.3%
5| BERX 6 15 21| 0.4% 78 103 181  0.5%
AR 52 1 53 1.1% 290 17 307 0.8%
K FiERX 10 0 10  0.2% 55 2 57|  0.2%
FX 0 0 o 0.0% 1 0 1| 0.0%
i REX 0 0 o 0.0% 9 7 16|  0.0%
HAX 4 0 4l 0.1% 23 1 24 0.1%
ZOH (A 17 4 21| 0.4% 21 13 34 0.1%
1k 0 1 1 0.0% 20 15 35 0.1%
(a)/Naf 2,689 2,135 4824 19,983 16,670 36,653
BN = 118 308 426 34[H] 683 1,734 2417 178[A]
HEOBE 47 188 235 23[H] 304 1,455 1,759 180[]
Z DA 53 209 262 34[H] 198 1,431 1,629 173
1B RE 0 0 0 o[g] 0 0 0 o[
(b)/IVEt 218 705 923 91[H] 1,185 4,620 5,805 531 ]|
HRE-RE 2 0 2 2[a] 131 160 291 200[g]
Hh i3 B ik 12 24 36 0[] 19 26 45 1[]
(c)/IVat 14 24 38 2[8] 150 186 336 201[@]
(a)+(C) 2,921 2,864 4862 ——— 20,133 16,856 36,989] ———
EE3SEIEES 100.7 98.8 1677 ——— 85.3 71.4 156.7 | ———
GES 7E 150 A 111.8% £ B 150 A 104.5%
2 REMERSBEORESERRE
EREST NS EEEES EEIN
EEECEES 4 66 33 512
£ F B 3% 0 0 0 0
FIECEES 0 0 0 0
RS 0 0 0 0
X B M #% 0 0 0 0
a i 4 66 33 512




M OA K R B FE
FAEH g4 FEE Rk 21
1218 25
26H 262H
5 S & Ee 2 ([A]) E:] = E tb 2 ([E|])
BRAKX 518 389 907| 21.6% 5,188 3,611 8,799 21.5%
#HE)IX 722 581 1303|  31.0% 7,100 5,685 12,785 31.3%
18 iz =8 9 6 15| 0.4% 106 34 140  0.3%
FX 53 3 56  1.3% 514 26 540  1.3%
A |EE 18 3 21  05% 110 28 138]  0.3%
HEmX 3 5 8] 0.2% 40 82 122 0.3%
X REtrBK 56 7 63|  1.5% 435 248 683  1.7%
BX 21 6 27|  0.6% 209 66 275  0.7%
Al HEF X 6 3 9] 0.2% 41 20 61 0.1%
£RX 0 3 3] 0.1% 2 5 7] 0.0%
I HILX 783 933 1716]  40.8% 7,919 8,558 16,477  40.3%
B 3 12 15|  0.4% 14 100 114]  0.3%
A BERX 5 10 15  0.4% 83 113 196 0.5%
IR X 31 1 32|  08% 321 18 339 0.8%
1K FIERX 9 2 1] 0.3% 64 4 68] 0.2%
EX 0 0 o] 0.0% 1 0 1 0.0%
noRE 0 0 o] 0.0% 9 7 16|  0.0%
HAX 1 0 1 0.0% 24 1 25  0.1%
Z0it (BHLK 0 0 ol 0.0% 21 13 34 0.1%
ik 1 0 11 0.0% 21 15 36]  0.1%
(a)/IVat 2,239 1,964 4203 22,222 18,634 40,856
BN = 101 319 420 34[H] 784 2,053 2,837 212[H]
HEOBE 38 200 238 23[H] 342 1,655 1,997 203[H]
Z DA 19 199 218 24[A] 217 1,630 1,847 197[]
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